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Use the area model to find the product.

1. 41 × 0.2 = 

40

1

 tenths

	2. 41 × 0.23 = 

40

1

 tenths  hundredths

	3. 4.6 × 32 = 

 ones  tenths

30

2

4. 32 × 4.61 =

30

2

 ones  tenths  hundredths
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Find the partial products. Then add to find the product.

	5. 26 × 3.4 = 

62×

+

4 tenths3

6. 58 × 4.21 = 

85×

+

1 hundredths24

7. 2.48 × 35 = 

53×

+

8 hundredths42
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Multiply. 

8. 32 × 0.3 = 	9. 21 × 0.42 = 

	10. 48 × 6.34 = 	11. 7.02 × 34 = 
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12. 65 × 8.2 = 13. 53 × 12.24 = 

Use the Read–Draw–Write process to solve the problem.

14. Lacy rides her bike 8.05 kilometers each day for 31 days. How many kilometers does she ride her 
bike altogether?
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